=
<
-

=
<

a(d cot(d))

1072

o10:3F :
T f T
e -4 X E EREPEPPEPEPEREPE
| URERAE 0 H 8 ) e
-1 2 3
10 1 TPlpOT (PCA 1 beamiinéf

1

z

=)
© [:
=) L.
o L
[<) L
1072
o107k : :
T I 1 :
@ r B 5
0.9:— -------- 1{ + '
0.8k T > 5
10° 1 10 0 .1
TP, (PCA t% beamliné
—=— DQM_CKF_TTbase
—— DQM_CKF_TT_retrainOldFiles125_v2_prelimWPM_epoch3
5
*
o}
=2
o]

g T
1+

<+

0.95

R 8 I N 0
- .
<+ HES

n=
o
-
o
o
5
107}
o 1002
<
@ 11
il
107

: 2 3
1 TPl[:g)T (PCA t%)obeamlin%)o

oo a,) (cm)

1074

1



	Contents
	Page 1


